Section 3.2—Quadratic Functions and Graphs
Standard Form
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Vertex Form
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Example Write the quadratic function in vertex form.
P(x)=2x*+4x-16
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Example Sketch the graph of the function P(x) = —(x+3)* + 1. Label the vertex, x- and y-
intercepts, and the axis so symmetry.
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The Vertex Formula
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Extreme Values
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Example Give the coordinates of the extreme point of the graph and determine whether itis a
maximum or minimum.

P(x)=-x*>-6x-8
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Curve Fitting

Example Find the equation of the parabola with vertex (2, -3) and passing through the point
(8,69).
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